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𝑷𝒐𝒕𝒆𝒏𝒄𝒊𝒂 ≥ 𝟐𝟎 𝑷𝒐𝒕𝒆𝒏𝒄𝒊𝒂 ≥ 𝟓 ) ¹

→
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ෝ𝒑 = 𝟎 𝒑 = 𝟓𝟎



→

$𝑒ó𝑙𝑖𝑐𝑎 = 𝑞 ∙ 𝑝 = 30 ∙ 50 = $ 1,500

ෝ𝒑 = 𝟎 𝒑 = 𝟓𝟎



ෝ𝒑 = 𝟎 𝒑 = 𝟓𝟎

𝚫 𝚫

𝚫

$𝑠1
𝑒ó𝑙𝑖𝑐𝑎 = ො𝑞 ∙ Ƹ𝑝 = 50 ∙ 0 = $ 0 $𝑠2

𝑒ó𝑙𝑖𝑐𝑎 = Δ𝑞 ∙ 𝑝 = −20 ∙ 50 = −$ 1,000



𝑁

$total = $0 + $1 +⋯$N

𝑛 = 1 𝑞0

𝒏 − 𝟏 𝒏
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$𝑛
𝑏𝑎𝑠𝑒 = 𝑝𝑛 ∙ 𝑞𝑛 − 𝑞𝑛−1

𝑞2 𝑝2𝑞1 𝑝1 𝑞3 𝑝3 𝑞4 𝑝4



$𝑛
𝑅𝑒𝑐 = 𝑝𝑛

𝑅𝑒𝑐 ∙ 𝑞𝑛
𝑅𝑒𝑐 − 𝑞𝑛−1

𝑅𝑒𝑐

𝒑𝒏

𝑞2
𝑅𝑒𝑐 = 𝑞2

𝐹 − 𝑞2

𝑞2
𝐹 𝑞2 𝑝2

𝒑𝑬

𝑞𝑛−1
𝐹 > 𝑞𝑛−1 𝑛 − 1 𝑞𝑛

𝐹 = 𝑞𝑛 = 0



$𝑛
𝑒𝑛𝑒𝑟𝑔𝑖𝑎

= 𝑝𝑛 ∙ 𝑞𝑛 − 𝑞𝑛−1 + 𝑝𝑛
𝑅𝑒𝑐 ∙ 𝑞𝑛

𝑅𝑒𝑐 − 𝑞𝑛−1
𝑅𝑒𝑐

𝑞2
𝐹𝑞1

𝐹 𝑞3
𝐹 𝑞4

𝐹𝑞2 𝑝2𝑞1 𝑝1 𝑞3 𝑝3 𝑞4 𝑝4



𝒑𝒓𝒆𝒄𝒊𝒐 𝒅𝒆 𝒃𝒐𝒍𝒔𝒂 > 𝒑𝒓𝒆𝒄𝒊𝒐 𝒅𝒆 𝒆𝒔𝒄𝒂𝒔𝒆𝒛
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↑ ↓



↑

↓



→

$𝑛 = 𝑝𝑛 ∙ 𝑞𝑛 − 𝑞𝑛−1 + 𝑝𝑛
𝑅𝑒𝑐 ∙ 𝑞𝑛

𝑅𝑒𝑐 − 𝑞𝑛−1
𝑅𝑒𝑐 + 𝑝𝑛

2↑ ∙ 𝑞𝑛
2↑ − 𝑞𝑛−1

2↑ + 𝑝𝑛
2↓ ∙ 𝑞𝑛

2↓ − 𝑞𝑛−1
2↓ + 𝑝𝑛

3 ∙ 𝑞𝑛
3 − 𝑞𝑛−1

3

𝑞2
𝐹 𝑞2 𝑝2

𝑞2
2↑ 𝑝2

2↑

𝑞2
2↓ 𝑝2

2↓

𝑞2
3 𝑝2

3



►

►

►

►

►



•

•

•

•

•

•

•

•



→




